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1. Which of the following is not a phospholipid?
A. Cerebroside
B. Plasmlogen
C Sphingomyelin
D. Cephalin
E. Lecithin
2. Sucrose
A. can undergo mutarotation.
B. is not a reducing sugar because carbon 1 of the fructose residue forms a
glycoside with glucose.
C. is a reducing sugar because carbon 1 of the glucose residue is free.
D. contains glucose and galactose.
E none of above.
For questions 3 to 5
a-helix
B-pleated sheet
random coil
all of above
E. both A and B
. is produced by procedures that denature proteins.
. is formed by hydrogen bonding between the peptide bonds on adjacent chains.
. has its ¢ and y angles located in the allowed regions on Ramachandran diagram.
. When protein subunits combine to form a quaternary structure, all of the
following interactions may arise except
peptide bond formation.
hydrophobic interaction,
electrostatic bonding.
van der Waals forces.
. hydrogen bonding.
7. Which of the following has quaternary structure?
A. Insulin
B. Mpyoglobin
C. Hemoglobin
D. Cytochrome C
E. None of the above
8. Human adult hemoglobin(HbA)
A. carries one O2 for each hemoglobin molecule.
B. binds four molecules of 2,3-bisphosphoglycerate when present as
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deoxyhemoglobin,

C. binds one molecules of 2,3-bisphosphoglycerate when present as
deoxyhemoglobin,

D. binds one molecule of 2,3-bisphosphoglycerate when present as
oxyhemoglobin. v

E. exibits a switch from a weak binding state to a strong binding state as
depicted by Hill plots.
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For questions 9 to 13

11.
12,
.13,
For

14.
15.
16.
17.

18.

19.

20.

A. primary structure of proteins
B. secondary structure of proteins
C. tertiary stucture of proteins

D. quaternary structure of proteins
E. all of the above

. Requires the presence of more than one polypeptide chain.
. Results from the formation of hydrogen bonds between the -NH- and -CO-

groups of the peptide bonds.
Is produced by the interaction of side chains of the amino acids.
Is ultimately dependent upon the sequence of amino acids in the protein.
Can refer to the a-helical and B-sheet structures of the protein.
questions 14 to 17
A. Todoacetate
B. Dansyl chloride
C. Performic acid
D. Sodium dodecyl sulfate
E. Phenylisothiocyanate
Reacts with the sulfhydryl groups of cysteine residues in proteins to form the
carboxymethyl derivatives.
Can be used for sequential degradation of polypeptides.
Oxidizes disulfide bonds in proteins.

Is a detergent that is used during gel electrophoresis to estimate the molecular

weight of proteins.

Which of the following statement about the Watson-Crick structure of B-DNA is

incorrect?
A. The "ideal" B-DNA helix has 10 base pair per turn.
B. The plane of the bases are nearly perpendicular to the helical axis.
C. The strands of the double helix are parallel.
D. In the helix,there are two quite different grooves , called the major and
minor grooves.
E. B-DNA form a right-handed helix.
What region is common to most prokaryotic promotors?
A. TATA box
B. CAAT box
C. Pribnow box
D. Homeo box

E. High G-C content

Which of the DNA molecules has the highest Tym(mid-point temperature)? In
each case only one of the complementary strand is given.
AATTGGCTGCGAAA

TTATCGTTACCGTT

AGGGCTAAGCGGCT

TTAAGCAAACCGGA

AAAATTTTTGGGGT
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